[ Efficiency vs vertpos |

~ 0.05

9.045E8 |1+
4 E
>\0.04:—
° E
@.035:—

)
£0.03

...................................

..................................

..............

0.0250HHT AT H | :
0.02 :
0.015fH {4+ f--o--o5 k- §
0.0 ¥ :
0 R SN R § SRR
A b il el
o ~Rf : : :
I r : : :
o r : :
0.95LC ARIRE
1072 107 1

10 0?
TP vertr (cr%)

—— DU
— g
Efficiend —— B3

<4

_mKE_Troriginal

_mkFit_TTNEW

_mkFit_TTNEW50
mkFit TTNEW100

~ 0.1
20.09
n
>0.08
>
2
90'07
3]
£ 0.06
(]
0.05]
0.04
0.03
0.02
0.01F
e

...........
...........

...........

....................

.....

Ratio
N
!IIII TTT1

- PTG ILI T

0.95!

10 20 30
TP vert z (cm)

0

[ Efficiency vs. sim PV

N 05
>
80.45
0.4
20.35
0.3
£0.25
()
0.2
0.15
0.1
0.05

£
n

lency

1.0

Ratio

iy
| e o 5
F

10 15 20
Sim. PV z (cm)




	Contents
	Page 1


